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(a) 2 (b) 1OFM B2 25
3-11
3-11¢a) & ,
. b, 10
B 0(( ) ’ ’
CAPM

E} :Rf +(§,,, _Rf )ﬂ,



’ B
6%, 11%,A
1.3,

R;=0.064(0.11—0.06)(1.3)=12.5%
B B 0.7,

R;=0.064 (0. 11—0. 06) (0. 7)=9.5%

B B o
60% A 40% B ,

Br=0.6(1.3)+0.4(0.7)=1.06

Rp=0.06+(0.11—0.06)(1.06)=11.3%

_ (Fwojon)
p=—7
Om
o
Vim o
Rm *R/
i =R+ ———(rojon)
Om
R,—R
5 /
R,=R;,+——(rj,0;)
om
R,— .
Rwi f
(rj,,,aj)
om

Oj
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Vim0 j
_ Tjm0O;
18/ -
om
.8 .
’
, ) 3-12 o CAPM ,
° R‘/'
o R, .
R/ Rm 7R/ o
’ °
’ ’

R, R
0
£
i
T M 25 3
1.0
ETA
3-12
,CAPM
( ). ,
:R,>R,+(R,—R)B. :

:Rj:R/’+(R,,,7R/)Bjo ’
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CAPM,
1.
, CAPM
., CAPM ,
o B 1,
2.
. Richard Roll
» Roll CAPM ;
y . “ ”» y , CAPM
NYSE .S&.P500 . Wilshire5000
, B o
3. Fama-French f
,CAPM ¢

B o ,
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, CAPM o
) CAPM
”»” s ﬁ ,
;P/E
FF(Fama  French) N N
B o
,FF s
o B
s B o
CAPM
. R CAPM
,CAPM
,CAPM
CAPM ,
3.4
3.4.1 CAPM
CAPM s B

P/ :R/+ (Ew 7R/‘)BJ
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,  CAPM ,

R A 12%¢( )N
3% ( ), B
2%, 12.5%., A.B 15%,
114.5%., 30% 20%,
( 3-6),
3-6
A B
12% 1~0. 30 8.4% 2.0% 1~0. 30 1.4%
3% 1~0.20 2.4% 12.5% 1~0.20 | 10.0%
15% 10. 8% 14.5% 11.4%
’ B A ’
s A .
A



A
2.
, CAPM ,
B
R, =R, +op +1(d; —R;)
R, 3
b B ;
Bi— J B ;
— ;
d J o
dj b
0.1, 1%,
$1 “
B o

0“

aw Il

S
‘o‘o“:.
S

O

0.1%
”$0.9

3-13),
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3

CAPM

CAPM

—P/E,)

/
7

—p(P/E

R, +0p;

R, =

P/E ,—

/
/E,

3-14),

(

ARGk (Beta)




CAPM )
M/B,

M/B

sM/B M/B

(Fama) (French)

CAPM .
R =R, +b3+c( 2 +d(

yb.c.d.e m

B

o

3.4.2

CAPM ,

Ri=a+0b,;F,+b,Fy +e;

3) te(

4) oo+ m(

APT

CAPM

n)
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bq

(2)

b

J

(E)R;=b,+b Fy;, +b,F;

, b
Fl/zlyFZi:O

, . b

F,,=1.4,F,=0.8,
8%7/)11‘:6%7/)21':_2%7

(E)R;=0.0840.06X1.4—0.02X0.8=14.8%

3-15 A

sbs F,

J

(EDR; =by+b,,F\; 4y Fy; +++++0,F,;

nabo N
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3.9

CAPM

’

(APT)




APT
’ ( CAPM
), o
1.
) b,
( ) o
7%
(EDR; =0.0740. 04X b; —0. 01 X by,
A B ;/)1]-:1.3])3,-20.9, A‘B
(E)R; =0.0740.04X1.3—0.01X0.9=11. 3%
WA , 12.8%., B
10. 6%, A, ( )B,
A , B o
11.3%.,
2. Roll-Ross
Roll-Ross

) 3 @ ; ®
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3 @
( ) @
( Do
Roll-Ross
(E)R;=b,+b, (F;UA ) +0, (Fy, EA )+
by (F3;UA )+, (F,;UA )+
bs (F5;UA )
EA sUA o
Roll-Ross CAPM B ,
18 4 ’
s B o
A( ) b(
) . Roll-Ross
(E)R;=0.00412—0.00013(F,;EA ) —0.00063(F,UA )+
0.01359(F5;UA )40.00721(F,;UA )—
0.00521(F;;UA )
F :F,=1.8,F,=2.4,F,=0.9,F, =

0.5, F-=1.1,
(E)R; =0.00412—0. 00013 1. 8—0. 00063 X2, 440. 01359 X0. 9+
0.00721X0.5—0.00521X1.1=1.25%

, F
APT
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4.1

( . ) o
( )
( )
Cr=Max(Sr—K.0)
Sp— f
K ;
Max Sr—K 0
’ $ 25,

$15. $25— $15=$ 10,
$12. 0 $12—$15=—$3,

4-1 ’
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et O

ieadeate 0it

fir

K
B s
4-1
)O b
K
. .
At ) /K“” bt
h 4
7 y
et ) Kep
X W i {44
4-2

4-2
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4.2
, 1 ,
4-1
. 45°
o b 07
1.
ABC . $10,
$10 ,
. 30
$5 0.3, $10 0.4, $15
0.3,

0X0.340X0.44+($15— $10)x0.3=$1.50
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. 4-3
X
A
i Y
i
&
2
1
(0] oy
CigEin) M ZE AT HE
4-3
( 4-3 45°
) .
R 4-3 Y
o , X Y
, (out of the Money),
, (in the Money) ,
, (at the Money),
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4-3 ,
2 3
4-3
4.
5.
4-3 ,
H ] Yo ’ ’
( 4-1), $40, B
A, A $ 38,
4-1
0.10 0.25 0. 30 0.25 0.10
$ 30 $ 36 $ 40 $ 44 $50
B 20 30 40 50 60




0 -

A B
A =0X0.10+0X0.25+($ 40— $38) X0. 30+
($44— $38)X0.25+($50— $38)x0.10
=$3.30
B =0X0.10+0X0.25+($ 40— $38) X0.30+
($50— $38)X0.25+($ 60— $38)X0.10

=$5.80

4-4 ) o

B A

fir

1
1
I
1
+
]
]
I
I
1
1
]
1
1

4-4
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4-2),
4-2
4.3
1.
#S, ; ds, .S,
7/,6 1 ,d 1
o ’ q-
1—q,
4-5 . 3/4
50%, 1/4 50%., $55,
10%, o 25%. $ 100,
4-5 , $50 $o«



).
(a)
3/4 1.50X $100= $ 150
S,= $100
1/4 0.50X $100=$50
=(3/4)X $150+(1/4) X $50= $ 125
(b)
$ 150 3/4 Max( $150— $100) = $ 50
$ 50 1/4 Max( $50— $100)=0
=(3/4)X $50+(1/4)X0=$37.5
4-5
( ) o
o Delta,
Delta=
_pS—dS _ $50—%0 _ 1
Delta=- g S, = §150—$50 2
) 4’3 o
4-3

$ 150 1X $150=$150 —2X $50=— %100 $50
$ 50 1X $50=$100 —2X $0=0 $50
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s $ 150, $ 150,
$ 100 $50;
$50, 1 $ 50, ,
$500 b b
2.
25%, . $ 150,
$ 200, 3
25% , C
[$100—2(C)]1X1.25= %50
2.5C=%$125—$50
C=$30
($50—$40)/$40=25%
. $100—2X $30=$40,
($50—$40)/$40=25%, R ,
$ 40 .

— (Put-call Parity

Theorem) :
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; $ 30,
4-6 .
PN+ 3 e
o+ o
*X ,’,r’
7 -
/ﬁﬁ O e g ad
H 30 i AR
i
H
P B B
4-6
$ 30,
$ 30, .

C—P=S,—PV(K)

c— ,
P __ 14
S
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—S,+PV(K)+C—P=0
C=S,+P—PV(K)
P=—S,+C+PV(K)
S, =C—P+PV(K)
$3 . $ 30,
6 ,6 4%, $ 35,

4.4

(Goldman Sachs) ; .

1973

C=$35+$3—$28.80=5$9.20

(Fisher Black)

delta(

b

(Myron Scholes)

) (Long-term Capital),

( )

§



(D ,
(2 o

(3
D ,

(5 .

(6) o
YD)

(8

dS=,Sdt+5Sd=

[ H

de=¢ /dt[ L0~NO,D],
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o ’

. ;lnS'1~~N[lnS+<,a*%>(T—t),a VT f],
St .
© S (1) , :C=C(S,»),
dC=C(S+AS .1+ A0 —C(S.0) 38
C(S+AS,t+AD),
C(S+AS 40 =C(S,0+9% AS+ ’7CA 1 35(2 (AS)? 2
(2) (L,
dC =C(S+AS .1+ A0 —C(S.0)
~ac ac 13C, o
=25 as+ I At 2 E (a9 (3)
(3 AS? ( AS"—"S*dD),
(2), AS At , s
dc—=-2< S i ( 75 +4 ;s( S'a’ 4
4 o 4-7 s
aC
IS ds, (4)
aC
7S ds, o
4) s



AHBEME (C)

Ke''s, K IR A AR (S)

4-7 dS) dO

0 T AS, K T 6 117 0 1 ()

Kef/l
4-8 dz dC
4_8 ’ .

( L t") ,

Ke™ Ke ™",
b .
b
b o

’

(The Hedge Portfolio), (The No
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Arbitraged Portfolio) ,

Ve=QS+QC
Vu— ;
Q— ;
Qe
Q. Q. , .
=Q,dS+Q.dC (5)
c_9C €, 19Cq,
d/—gdS—F( +—asZS )d
5,
aC aCc 1 9°C_,,
stﬂ)[ dS+< ty g S )dt} (6)
(6) , (Q,
aC
Q.. Q.dS Q. S ds ,
( ) ,
, (Long Position)
(Short Position) .
Q _ JC
o ’ Q(_ (’)S ’



«+ 100 -

Q(:

#

fir

iy

o

e - .
I’Q.\* «:)S ’ VHiQ.\S+QL(/
_/9C o
VH—< 35 )S C
- aC aC | 1 9°C o,

dV, = QdS + Q [as ds+( 3w T S )dt}

__,9C  12C,

dVy= < Jt+2 aszSa)dt
,dS s
de ,dVy o
dVH _
’ (7'), : VH —leo
:dVH:VHVde
S t , ?)g

40
35
30
25] KR AL -
20| :
15| i EZR
10| o
j

5 10 15 20 25 30 35 40 45 50 55 60 65
ATBU)
IR HE(S)
49 XYZ
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4-9 XYZ .
$ 20, $7, $20
4-9 1/2, $20 1
$7 . $20—2
($H=$%6,
Delta 1/2,
, , 1/2 1 .
1 ( ) ( )
, 4-9 ,
. . . 4-9

2.
C=S,N(d,)—Ke "N(d,)
S[A H
K— 3
e=2.71828;
T ;
T (T—0,

In(S, /K) -+ [ﬁ%(w}
ot

d1:
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In(S,/K)— [rJr%(az)Jr

d, =
o
dzzdlftﬂ/;
o
N{d,) Delta
r ° ’
:( Delta >_
. AN
° T\ 7" O'Z
( )
, 5
. Black  Scholes
o 1
0. 40,
4 :
. St: $ 30

K:$28

Nd;),
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: V:O. 10
B T:O. 5

In(30/28) + [o. 1o+%(40>2}5o>

d, =

0.40 4/0.50
_ 0.15893 _ .
= 0. 282813 062
1n<30/28>—[o. 1o+%<40>2]<5o>
do -
} 0.40 4/0.50
_0.078993 _
"~ 0.282843 0-279
N{d,) Ndy)
di d, . ,
68.26%, 2
95.44 %, 3 99.74%.

N(d,)=N(0.562)=1—0.287=0.713

N(d,)=N(0.279)=1—0.390=0. 610

$
C= $30X0. 713— 507 X0. 610= $ 5. 14

. B-S .
$5.14,
N(d,) . 0.713,
0.713 .
. 1 0.713 .
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4-4 s o
4-4
r=5%
t=1 t=4 t=17
0. 20 $ 35 5.15 5.77 6.42
0. 20 40 1.00 2.18 3.02
0. 20 45 0.02 0.51 1.11
0. 30 35 5.22 6. 26 7.19
0. 30 40 1.46 3.08 4. 20
0. 30 45 0.16 1. 26 2.24
0. 40 35 5.39 6.90 8.11
0. 40 40 1.92 3. 99 5.38
0. 40 45 0.42 2.11 3. 44
“
23%
3. B-S
(1 0
E(Cy)=Max(S;—K,0)
b
0 S >K,

MaX(STiKaO):STiK;

0

Sr>K

E(C)=pX[E(S;|S;>K)—K]+(1—p) X0

b

’

ST<K7

Max(Sr—K,0)=0,

E((:T):MaX(ST—K,O)
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) E(S:1S:>K)
Sr>K ( “ 7o) Sy o

C=c¢ "“E(Cr)
=pXe "TX[ES; S >K)—K]

—pX e " TXE(S S >K) —pXe UK

Sr>K( “ 7 )
E(S;|1S:>K)

o

$120 .

$120 ,

0. 340308, $120
34.0308% , $137. 886,

0.020[

0.015T

AELS >1201=0.34
0.010F

0.005

(@] 1 1 »
50 75 100 125 \150 175

E[S,|S,>X]=137.886

1 TA%(S)
200
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. 34.0308% $137.886
(2) S;>K . (Sp)
(K) (o)
(R) (R) .

) (), (X))

Prub(1>1\):1—N[LiL]

[
pnox oo s NC)
X, —pu" .
X x §
N
N
; 1*N|:Li’L} ,
o
x X, o

(X
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(T) 7’:/1+679 ’
&
(™) (o %) (7’_7)1’
ot
2 B *
,u*:(r*%>r o =ao\r Prol)(1'>x,\):1—N[I'\6*’u }
_ S,
. Prob[ST>K]—Prob[ >1n<§>} .
p:Prob[ST>K]:Prob|: >1n([s<[ >}
So o 7i
—1-N 111( K) (r 5 )‘[
ot
1—Nd)=N(—d),
So _
o=Prob[ S;>K]=N 1n<?>+<r 2 )T
o
d> ) ,
o=Prob(S:>K)=N(d,)
(3) E(S+|S+>K) o Sr>K ,

E(S+1S:+>K) ,

o b

C— el’Xff(s* — K)L'(S")dS*
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E(S+[S:>K) . (Cliff
Smith) 1976 x oo

b

E(S, | S1‘>K):Slc’xf[ N(d,) }

N(d;)

=

4= [:ln( S )Jﬁ(’draz_)l—}_dg—!-m/;
'

p (% qmﬁ
ot

. o E(S:|S:>K) ,
C=ec "E(Cp)
=pXe " X[E(S:|Sr>K)—K]
=pXe T XLE(S[Sr>K) —pXe ]
; [C=SN
(d)—Ke ™ "N(d,)]
C=e ""E(Cp)

=pXe " X[E(Sr|Sr>K)— K]

_, e e s [ NG
N(d,) Xe x{sxe X[N(dz)]}

=SN(d;)—Ke "*N(d>)

, Delta

B’S ’ o
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(1) Gamma:

(2) Theta:
(3) Rho:
(4) Vega:

ol

Delta
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Hy itk
7
iy
&
1
3

0 = =

AT R AN A

4-11
6.
’ 0 (Index
Option) , Standard &. Poor’s 500 NYSE .

(Debt Option) ,
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8
4.5
(
), 4-12 ,
(Buy Long) (Sell
Short)
FiA 7
R AZ A% \\Mﬁﬁ%
0 X —> 0 —>
TG g TG %
Ty oy
4-12 ( )
( 4-13),
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LNF BRI

SR B IAL

T
1
1
1
1
1
1
1
1
1
1
T
1
1
1
1
1
1
1
1
1
1
PR e s e s e s s S R g eSS e S i,
1
1
1
1
1
1
1
1
1
T
1
1
1
1
1
1
1
1
|
1
1

=

S A BRI

4-13
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(Buying a Protective Put),

$ 40
, )
. 6 $ 40 $2.5,
4-5 :
4-5
$ 20 ($20 $ 20 $17.50 —$2.50
25 (15) 15 12. 50 —2.50
30 (10) 10 7.50 —2.50
35 (5) B 2.50 —2.50
40 0 0 (2.50) —2.50
45 5] 0 (2.50) 2.50
50 10 0 (2.50) 7.50
55 15 0 (2.50) 12.50
60 20 0 (2.50) 17.50
, $2.5,
, )
(Symthetic Long Call) ( 4-14 Do
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e 20

BB %%

||||||||||

EERiSUIYE ST

4-14

(Writing a Covered Put) ,

$55,

$52,

$5.50,

P,—P,=$55—

$52=%$3),
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s 4-6 o
4-6

$ 40 $12 $15 $ (9.50) $2.50
45 7 10 (4.50) 2.50
50 2 5 0.50 2.50
52 0 3 2.50 2.50
55 (3 0 5.50 2.50

57.50 (5.50) 0 5.50 0
60 ® 0 5.50 (2.50)
65 (13) 0 5.50 (7.50)

$5.5, .
$2.5, . ,

$57.50¢( 4-15),

$5¢+
Flid
2.50
o ! 1 | 1 1 1 1 Hﬁ-ﬂj,{/\*%
_I/ 40 45 50 55 60 65 70 ($T !
-2.50 F
&k PN
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3.
)
o (
) ) . )
s (Buying a Protective Call)
. (
)
$52, $55,
$1.50,
) .
$52 »  $1.50 ’
4-7 .

4-7
$ 40 $12 $0 $ (1.50) $10.50
45 7 0 (1.50) 5.50
50 2 0 (1.50) 0. 50
52 0 0 (1.50) (1.50)
55 (3 0 (1.50) (4.50)
60 (9 5 3.50 (4.50)
65 (13) 10 8.50 (4.50)

, , $4.5,
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( ), 4-16
$5r SN
B s 3L Sk ~F B R
s v
250 e
His B9 )1
oh (N
o y : L I . L E-Yite it
7/40 45 50 55 60 65 70 ($)
-2.50
FRAr B A
FEHE BB KRR
5k
s S iU N
4-16
4.
( )
(Straddle) , s s
, ( )
$52, ( $55)
$1.50, ( $55)%5.50,
4-8, 4-17
4-8
$ 40 $0 $ (1.50) $15 $9.50 $8
15 0 (1.50) 10 4.50 3
48 0 (1.50) 7 1.50 0
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( )
50 0 (1.50) 5 0.50) (2
52 0 (1.50) 3 (2.50) (D
55 0 (1.50) 0 (5.50) (D
60 5 3.50 0 (5.50) (2)
62 7 5. 50 0 (5.50) 0
65 10 8.50 0 (5.50) 3
70 15 13.50 0 (5.50) 8
$7.50 L FiE FI3E
5 -
2.50 |-
oh i
o . . ; ; : : : [uyie -3
4 40 45 50 55 60/ 65 70 ($)
-2.50 |
_5 -
gL
-7.50
4-17
4-17 s $62, $ 48
. $7,

4-9, 4-18 o
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4-9
$ 40 $0 $1.50 $15 $(9.50) $ (8
45 0 1.50 10 (4.50) (3)
48 0 1.50 7 (1.50) 0
50 0 1.50 5 0. 50 2
52 0 1.50 3 2.50 4
55 0 1.50 0 5. 50 7
60 5 (3.50) 0 5.50 2
62 7 (5.50) 0 5. 50 0
65 10 (8.50) 0 5. 50 (3)
70 15 (13.50) 0 5.50 (8)
$7.50
5 -
2.50 |
oh A
0 - - - - e A A
! 40 45 65 70 ($)
—2.50 |-
_5 -
sk EiiPN
-7.50 |

$7, ; .

(@21
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$52, ( $500 $5,
( $55 $1.5,
4-10,  4-19 .

4-10
$50 $50 $55 $55
$ 40 $0 $ (5 $0 $1.50 $ (3.50)
45 0 5) 0 1.50 (3.50)
50 0 5 0 1.50 (3.50)
53. 50 3.50 (1.50) 0 1.50 0
55 5 0 0 1.50 1.50
60 10 5 5 (3.50) 1.50
65 15. 50 10 10 (8.50) 1.50
$5
RETT AR
2.50 A ZF)HE
1 1 1 1 1 1 1
OMV"20 15 50 As5 60 65 70 ?%?1”%
—2.50 RETITAT 2=
T E %k o
s — T
il e 2



4 . 121 .
$53.5 , $ 1. 50,

$3.5¢ )% ,

$ 3. 50, 42. 8% ( $1. 50/
$3.5),
6.
4-11, 4-20 .
4-11
$ 50 $50 $55 $55

$ 40 $0 $5 $0 $ (1.50) $3.50

45 0 5 0 (1.50) 3.50

50 0 5 0 (1.50) 3.50

53.50 3.50 1.50 0 (1.50) 0

55 5 0 0 (1.50) (1.50)
60 10 (5) 5 3.50 (1.50)
65 15.50 (10) 10 8.50 (1.50)

$50 , $ 3. 50,

$55 $1.50,
7.
(



. 122 -

: D« $500 $8,
@ $55) $5, (€)1 $60) $3,
@, D.® , 4-12.,
4-20
4-12
$50 $50 $55 $55 $ 60 $ 60
$ 40 $0 $38 $0 | $am $0 $3 $1
45 0 8 0 (10 0 3 1
50 0 8 0 (10) 0 3 1
51 1 7 0 (10) 0 3 0
55 5 3 0 (10) 0 3 4)
59 9 (D 4 (2) 0 3 0
60 10 (2) 5 0 0 3 1
65 15 ) 10 10 5 (2) 1
$5¢
FIiH
2.501
albE
A s AN F
0 ==
4 (%)
= i
—-2.501
= 41
-5+ E— itﬂz!%ﬁ%ﬁﬂ;&%)\z{%m%ﬁ%ﬂ@E‘?ﬁi&ﬁﬁﬂ
— S I AR B SR A 20N S BAR A B BRI

4-20
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$51 $ 59, $1,
$51 $59 s s $4¢ $55 ).
$55
@’ @\@ 9
4-13, 4-20 o
4-13
$ 50 $ 50 $55 $55 $ 60 $60
$ 40 $o0 $® $0 $10 $0 $ (3 $ (D
45 0 (8) 0 10 0 (3) (D
50 0 (8) 0 10 0 (3) (D
51 1 ) 0 10 0 (3) 0
55 5 (3) 0 10 0 (3) 4
59 9 1 4 2 0 (3) 0
60 10 2 5 0 0 (3) (D
65 15 7 10 (10) 5 2 (D
$51 $59 s $51
$59 , $1° “ ”»
$55 “ ”’ s
8.
, (Collars) ;

o 4-14.



4-14
$ 45 — $2
$ 50 $3 —
$ 48, 100
$50 . $3 , $ 45
$2 $1,
. 4-15 .
4-15
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=Dy T CX (AR
AP MDAR+ - CX(AR)
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CFli I3 3
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DF,—— :1/(1+R)".R 5
PV,— ¢
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4.993 ( 5-2),
5-2
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3 80 0.7938 63.51 190. 53
4 80 0. 7350 58. 80 235. 20
5 80 0. 6806 54.45 272.25
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S
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5 . .
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5 $1469, ( +
+ ) o
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5
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$ 1469
, 5X $80=$400
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0.07
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_ $1080 _
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( Capital Gain) .
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9%
5
. (5X $80) $ 400
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. ($1080/1.09) $991
$1469
(Capital Loss), (
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$1469 . ,
6 8% 5 ,
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3 80 0.7938 63.51 190. 53
| 80 0. 7350 58. 80 235. 20
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4.993 ., 8% $1 000,
p —_ 80 80, 80 80 ] 1080
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b
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2 160 0.8573 137.17 274.34
3 80 0.7938 63.51 190. 53
4 80 0. 7350 58. 80 235.21
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\ | \ \ \ \ \
v
0 1 2 3 4 5
t=1/2
5-12
o Cl (jg CS
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P= (1+1/2R) + (1+1/2R)
G, C, C, C; C..
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+ 188 -

5.4

5.4.1

@y

CD,



5 . 159 .

(2) .

(Routine Hedging)

( 5-13 — )
EaRty
b GllE
e
AR
i it gt uh
0 ——
/MBS B P
5-13
(Hedge Selectively) . )
(Overhedge) (
o , )



160 -

5.4.2

20

AE=—(Ds—kD;) XAX

AR
1+R

: 20



5 « 161 -

_ AR
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P 1.1

=$0.64
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dp .
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dB
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AR bp MD=D/(1+R)
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0.5X8.82X $97 000 $427 770
=537.672( )
537

10% 11%.,
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5-25 1
$300 ( )



< 179 -

, 5-26

9%=_LFRF| &

o \
7% |-
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10 JGB|—2.8 | 45138.8 | —0.0000110|($0.00920)| $147.15 | 17.6%
27.41[211 055. 1 0.0001070| $0.06935 | $668.01 | 82.4%
256 193. 8 $635.16 [100.0%
Risk=gp 506. 16
VAR = aop $835. 16
)
VAR, 2.
>l 6-7 R —2.82 ox; +
o120, =0. 000139 X (— $ 16 000) + (—0. 000078) X $7 700=—2. 82,
o (X)) 1 (X2x), 256 193. 8,
6,= /256 194= $506 . 95% ,
VAR $1.65X $506=$83500
. 95% , )
$83500 . , $13 .
2 ( Do
(1995 1 23
’ 6.4% ., .83%.
, VAR
)
s VAR s
VAR —%$0.92 . $ 100 . VAR
$0.92 VAR  $8.935
$ 100 . VAR $8.935

VAR
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b o

, VAR  $1.4715 ,
VAR $ 6. 8801 o s
6.6
VAR
s N , 1996
{ ) VAR
s VAR 60 VAR
s t MRC,
MRC, :Max[kx %%VARM VAR, _, ]+SR(:,
— ( 3);
SRC,—— .
. v/ 10
s VAR s
o ( 9

:www. bis. org) ,
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1.
. Delta-plus .
(D) o s
, (in the Money) ,
(2) Delta-plus » Delta-plus
Delta,
Delta =Delta + AV
AV o
8%, 15%.
s o Gamma
Gamma =Gamma * AV?/2

Vega
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Vega

=Vega -+ 25%

(3)
. Delta-plus .
Delta-plus R
Delta
“ ”
“ ”»
(D o ,
b b A b
b
o 6-8,
6-8
N/A 0
6 0. 25
6~24 1.00
24 1. 60
N/A 8. 00
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(2) .
s o 3 o
\ , 3 2
5 2
, 3 20 13
3 0.2% 20 12.5%,
. 10%
( N
. ) o
6-9 6-10



+ 238 - —

6-9
( )

o ® ) (D) (&) (6) (7D
0~1 $5000 {0.00%| $0.00 [0.00%]| $0.00
1~3 5000 |0.00% 0.00 |0.20% | 10.00
3~6 ( ) 4000 |0.25% | 10.00 |0.40%| 16.00
6~12 ( ) (7500)|1.00% 75.00 |0.70% | (52.50)
1~2 (2500)|0.00% 0.00 [1.25% | (31.25)
2~3 2500 [0.00% 0.00 [1.75% | 43.75
3~4 2500 [0.00% 0.00 [2.25% | 56.25
3~4 ( ) (2500)|1.60% | 32.00 |2.25%| (45.00)
4~5 1500 |0.00% 0.00 [2.75% | 41.25
5~7 ( ) (1000)|1.60% 16.00 |3.25% | (32.50)
7~10 (1500)|0.00% 0.06 [3.75% | (56.25)
10~15 ( )| 1000 [8.00% 80.00 [4.50% | 45.00
15~20 1500 0.00% 0.00 |[5.25% | 78.75
=20 ( ) 1000 |1.60% 16.00 |6.00% | 60.00

229. 00
66. 00
6-10
( )

1.

229. 00
2.
3~4 56.25 | —45.00 11. 25 45. 00 4.5
10~15 45.00 |—67.50 |—22.50 45.00 | 10% 4.5




« 239 -

3.
0~1 0.00
1~3 10. 00
3~6 16. 00
6~12 (52.50)
26.00 | (52.50)| (26.50)| 26.00 | 40.00% | 10.40
1~2 (31.25)
2~3 43.75
3~4 11.25
55.00 | (31.25)| 23.75 31.25 | 30.00% 9.38
4~5 41. 25
5~7 (31.50)
7~10 (56.25)
10~15 (22.50)
15~20 78.75
=20 60. 00
180.00 |(111.25)| 68.75 | 111.25 | 30.00% | 33.38
4,
1 23.75 | (26.50)| (2.75)| 23.75 | 40.00% 9. 50
1 68.75 (2.75)| 66.00 2.75 |150.00% 4.12
5.
9. 00
53.16
13. 62
66. 00

229+9+53.16+13.62+66=2370.78
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: @ ( ); ©
),
4% (x ).
6-11 (2 $2500 $1
$1.25 4%,

$500
. $7500 ($10000 —$2500 ), 8%
(y ), $ 600

$1100 ($500 + $600

®
6-11
(x,y
( )
X y
(H=(4)
@O=D =@ | OTD | =6

(O | 2 +(2) X 4% —(2) X 8% T
1 | 100 0 100 4 100 8 12
2 | 100 | 25 125 5 75 6 11
3 | 100 | 50 150 6 50 4 10
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”(Shorthand Method) o ,
8%, 8% Gamma
Vega o ,
4.
( ) )
1993 —
“ (Capital Adequacy Directive, CAD)” ,
., CAD 1993
) ., CAD
o VAR
VAR VAR ;

VAR ) VAR VAR . VAR



7.1 VAR
1994 s o
o (Passive Application) ,
, (Defensive Ap-
plication) ,
’ (ACtiVe) °
VAR ,
. 7-1 o

7.1.1 VAR

s o
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’

1993
1998

7-1

VAR
66 . ,
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7.1.2

1. VAR
VAR —

1994 VAR ( 7-2),

VAR(E J13£70)
30

60 7

40

20

7-2 VAR

1994 VAR $7000 , 2

7-3
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Filz

6%

5%

4% =

3% -

FIZ K

7-3
,VAR
2. VAR
VAR
VAR
$1000 5
, 30
VAR
$6000

o » VAR

VAR ,
, A VAR
A A, A; VAR $ 7500
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.44
VARFR &
$ 112
L&A A& F#1IB
VARBR & VARFR &
$6 0007 $ 6500/
| | |
25 FAL 25 FiA2 2 5 A3 T 5 Bl 2 5 B2
VARFR % VARIE A VAR % VARKR & VARFE A
$3 0007 $25000 $2000J5 $ 45000 $4 000/
7-4 VAR
7.2
(ROA) . (ROE) s
7.2.1
VAR (Risk Capital)

nomic Capital, EC)
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’ ’ (EC]*
uity Capital) , ) )
. VAR s
EC=VAR
, 99 % . VAR $1000 ., VAR
o ,VAR
( 75 R
TR AR
7-5 VAR
, , VAR
Merton(1974)
( )6
Sx 9B1 9V1 S[ +81 -
7K o M \% s " ’
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; © .

’

(V) =In(V,) + <u—%az ) T+o VTe

701 (

In[E(x) ]=E[In(x)]4+0.5X
VAR[In(x) ] ). v P.
P =PV, <V")
—Ple<[nw V- (,r%az )T]/o T

=Ple<—a)

VAR
VAR =EWV;)—V~
v, o
, K=V~
EC=S,=C(V,.K.T.r.e)=V,N(d,)—Ke ""N(d;)
V,=$100 ,u=8%.r=5%.6=30%,
. T=1 1%

o

: a=—2.33
[In(V>? /V,)*(#*%GZ)T]/J\/T:*Z.Z%S

V*=$51.48
S, =$51.09



. 249 -

7
B,= $100— $51.09= $48.91
: EC $51.09 ( )
1 VAR

VAR =E(V,)—V* =V, e —V*
= $108.33— $51.48= $56.85

VAR
s N{d,) N(dy) 1,

S[ %V, — Kefr’l' j— efz‘]‘ (V, erT 7V* )
=e T[E®™ (V;)—V" ]J=e TVARY

VARS VAR VAR

o 1)

VAR =V, &7 —V* = $105. 13— $51. 48= $53. 65

Size " X $53.65=$51.03

$51.09 ,
7.2.2
(RAPM),
RAPM
. 7-1 $10
$100

12% 4%, 99%
$19 .

VAR

$200
$28
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7-1
RAPM
VAR RAPM
$10 $100 12% $ 28 36%
$10 $ 200 4% $19 54 %
RAPM 36%., RAPM
53%, .
RAPM 20 70 RAROC
(Risk-adjusted Return on Capital) .
RAPM )
o i RAPM
VAR
RAPM
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W4y
i
0
D 3 250
7-6
RAPM o
RAPM= VAR
VAR = VAR + VAR + VAR —
(Overall Economic
Capital),
RAPM

o

1966  William Sharpe )
(Sharpe Ratio) ,

_ R —Rr
ST TR
R— i ;
o(R)—
RAPM
Sharpe s

. 1965 (Treynor) s
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, Treynor
®
R,—R:
T, =
B
Bi— i P
, RAPM ( VAR
) ,
VAR o
VAR
. i VAR (AVAR)
VAR .
RAPM: = yaR, ~ VAR j
, VAR , RAPM.
RAPM:= (VAR ) ~ VAR Xwp, _ VAR, Xp
CVAR, VAR,
7-2 4 .

, 99 % VAR

RAPM VAR (

RAPM

2.33X

VAR),
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7-2
( )
0
VAR RAPM VAR % VAR
1636 152 708 | 2.31 0.851| 603 79.9%
381 92 426 | 0.89 |—0.131| (56) |—7.4%
123 71 332 | 0.37 0.554| 184 24.4%
50 16 74 | 0.68 0.322| 24 3.1%
1541
2189 162 755 | 2.90 755 100. 0%
VAR VAR
R 5 s
b o
VAR , VAR 80%
, VAR ,
VAR
VAR R
VAR

.2.3
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(SVA)
. kok .
SVA . (NPV)
RAROC :
(MBS) .
SVA “ "(EVA)
EVA= —( Xk)
ki
k .
VAR VAR . VAR
: CAPM ,
. CAPM . i
R B .

ki=Rp+[E(R,)—Rr 1B

P/E
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“

”(Paradox of Credit)
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8.1
8.1.1
@D) (Default Risk),
( ), 0
(2) (Market Risk),
’ l\[
:g\jl/),XCE,X(l—f,)
b[ ’ 1( ) O(
),E(;))=P,;,P; ;
CE,—— 5
f‘li H
1= fi—

81



258 -

8-1
(VAR) (VAR)
(VAR) (VAR)
( ) (
b °
b
8.1.2
( > H ) °
. b
) ( )6
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b o V[
(Replacement Value),
V..
t=Max(V,, 0)
8.1.3
o ’ H @
; @
, (Peak Value)
t=Max(V,+AV,, 0)
AV.— ¢ . c o
» C 1
( ) —

b b
( Transaction-by-transaction Basis)

o b
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. /
8.2
(Default
Risk), .
8.2.1
s . 8-2
o BBB
1 0.24%, 10
5.03%,
8-2 : o
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8-2
( %)
1 3 4 5 6 7 9 | 10

AAA 0 0 0.05| 0.11| 0.17| 0.31| 0.47| 0.76] 0.87| 1.00
AA 0 0.02| 0.07| 0.15| 0.27| 0.43| 0.62| 0.77| 0.85| 0.96
A 0.04| 0.12| 0.21| 0.36] 0.56| 0.76| 1.01| 1.34| 1.69| 2.06
BBB 0.24| 0.54| 0.85| 1.52| 2.19| 2.91| 3.52| 4.09| 4.55| 5.03
BB 1.01| 3.40| 6.32| 9.38|12.38[15.72|17.77|20.03|22. 05|23. 69
B 5.45(12.36|19.03|24. 28| 28. 38| 31. 66| 34. 73| 37. 58| 40. 02| 42. 24
CCC  [23.69(33.52|41.13|47. 43|54, 25(56.37|57. 94(58. 40|59. 52| 60. 91

,1981~1998

8-2
n
7
Rates) ,
8-1

(Acumulative Default Rates)Cn,

(

n

)

o

(Annual or Marginal Default

z

(1—(:,,>=<1—(:7,,1><1—d,,>=f{(l—d,)

d

o

n—1

Cq :dl = 0. 24%,

(1—0.54%)=(1—0.24%)(1—d,)

d>=0.302%

i

ki =1—Ci—1)d,



. 262 - -

it
dl
1-d,
-y
c,=d, R
c,=d,+(1—d,)d, > Ry
cy=d+(1-d,)dy+(1—d,)(1—dy)d,
8-1
° 1 (Loss Given Default, LGD)
. 8-3
’ f=51%, 8-2

,BBB $1 5

$ 100 000 000X 2.19% X (1—51%)=$ 107

8-3
%
70 21
55 24
51 25
32 21
45 27

,1997~1998
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8.2.2
1.
, 82
AL
B $ 100
W Ak
P*
bacES
Bk $100
8-2
, . ; X
$ 100, ; $100, C=a
o (P™) , Y'Y
%100  $100 B £X $100
B R L T

1+y=0+y H[1—x(1— ]

y &yt a(l—F)

1+y
1+y

=1—a(1—/

1ty

1-pH=1—
x( ) 1Ty



y _y ’ A °
’ o 8-3
B . 1
’ f‘:O’ H
vy —y=15.8%—10% =5.8% =
252 (%
B Al A5 2 (BZR)
e fiit
i 111%
0 1 2 HATR(4F)
8-3
2.
, Merton
(1974) : .
( ) s s
( ) 3 s
( 8-4 ).
( ) , B, o
. A>B ,
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B AR i £
0 ! ' '
A, B(HEEK) A, BFEA)
—
8-4
(L ONiTE
0 A, B A, FEFE(A)
85 ( )

Sr=Max(V:—K, 0)

b

Br=V;—=S;=V;y—Max(V;—K, 0)=Min(V;, K)



ki A
HEAL
M EK - T
o K
Al [E
(@)
ML 1E
A EEE [ .
0 7
Al B
(b)
8-6

Br=K—Max(K—V;, 0)

dV:IqutJFo'VdZ

’ ’

:V:B+S
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B=FV, 0, F(V, TO=Min(V, Br)
Bp:K9 ( )
S=fV, T fV, T)=Max(V—Br, 0)
(D . s B-S
S= =VN(d,)—Ke "Nd,)
T T—1t, 5
r H
o
N(d)
g = m(V/Ke ™) | ovr
o 2
dy=d, —onT
_ Ke ’*
X V [}
’ X O'\/70 ’
B-S o s
:V76V9 o ’
S Gss V?GV, A )
98
dS= Fi%a dV=aAdV
ds/s os»

(2) o

0sS= Ay V)

B=V—S,
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B=Ke "N(d,)+V[1—N(d,)]
B/Ke "=[N(d,)+ (V/Ke ")N(—d,)]
(3) . B-S ,N(d;y) ,
° 91_N(d2):N(_d2)
4 .

K@) —r=(—1/0) XIn[ N(d;)+ (1/x) X N(d,) ]

Ko ( ) ;
r ;
—
(5) o ,
CL=Br—Br
, (ECL)

Bre " —B =Ke " —{Ke "N(d,)+V[1—N(d,) ]}
=Ke "[1—N(d,)]—V[1—Nd)]
=Ke "N(—d,)—VN(—d,)
=N(—d;)[Ke "—VN(—d,)/N(—d,)]

e, ECL

ECLy =N(—d)[K—Ve"™N(—d,)/N(—d;)]
=pX[ X LGD]
]\](7612)7 H
Ve™N(—d)/N(—d,)—
K*Ve’*l\/(*dl)/i’\/(*dz) )

EDF,



8 . 269
KMV @(2002 Moody’s )
(A) 0 $1 $8000
() $121.2
. 1 $2 000 $8 000 (
95 % :1.65X $1212000 = $20 000 000
), \ [ KMV
, (A) T
8-7 , (EDF) (A)
(B) o
$ ) .
\ ANETE
o IELE Sy
N A
R //' +"I
W7 e 7
" =
H > it
B A HIREE
ﬁ%ffbiﬁm \
CoERATS) R
i (EDF)
0 1
i) 1
8-7 KMV
O KMV 1989
(Kealhofer , McQuown Vasicek) Moody’s Moody’s

KMV
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(D , o
(2) o
(3
D) 8_8 o
HHEAT
20024E7 H21 H i ™ AR UL
I r‘/ = 1=
’ 10 + cece
f,f\-/ V ’ . LB
|KMV@©s EDF | / ’ 2
A n /\A 1.0
i 1 |7 fes
] 0.50
A , + BBB
s | Bl irgg 020
0.10
/\J 1 AA
0.05
Dec Jul Feb Sep Apr Nov Mar Apr May Jul 002 L Aaa
98 99 00 00 01l 01 02 02 02 02
88 KMV EDF
8-8 o
2002 7 21 . , 2002 4,
BBB, o , 2002 EDF
. 4 20% .
’ : @
. . @
©) , .
, o Merton
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V: $ 100,6&':20%9(

ov) s =1 r=10%,
; x=90%, K= $99. 46,
Ke "= $90,
Merton ,
S= $13.59

B=V—S=$100— $13.59= $86. 41

In(K/B)/r=1n(99. 46/86. 41)=14.07%

4.07%.,

p=Ke ™ —B=$90—86.41= $3.59
N(d,)=0.6653 N(d,)=0.7347

10% .

ECL;y =N(—d,))[K—Ve "N(—d;)/N(—d,)]
=0.3347X[ $99.46— $110.56X0.2653/0. 3347
=0.3347X[ $11.85]= $3.96

C $11.85 .

$3.5%e"=$3.96

, x=0.9, 4.07%, 0.9/0. 1=
900 % .
x=0.7, 0.36%, x<50% ,
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0, o
8.3
(Credit Exposure)
) b ’
8.3.1
(Notional) ,
8-9 5 o s
b o 1 b
2% b b
. 89 . 95% 1
8%,

8-10 10% ,
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HME 10
HEUME o
Y [ 00 - S, N
el ?_ REMO5%BIEAKTE)
6_
5 -
4_
3 -
1 FIH
1 4
0 / . . :
0 12 24 36 48 60
Ay
8-9 5
HHANE & 4 ST E S
60
401 5% BIE/KT)
301
20
101 P
0 T T T T
0 12 24 36 48 60
Aty
8-10 5
8.3.2
(Expected Credit Exposure, ECE)
( ) ( )
ECE= JL Max(z.0) f(2)dx
() x

b b

(Worst Credit Exposure, WCE),
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C (G I CAR(Credit at risk),

1—¢= J C f(oda
CAR

b

ECE=LE(2/2>0)=—2
2 2
( 1/2 1/2) 95 %
WCE =1. 655,
] X() .
ECE= X, +—2Z
()
ECE=
(Receivables) . (Trade
Credits) (Letters of Credit),
ECE=0
(Exposure Modifiers) .
o (Exposure Limits),
’ ° ) (COH&Y*
eral) o s
(Daily Marking-to-Market) s

o b
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(Liquidity) (Operational) ,
8.3.3
(Netting Agree-
ments) ,
. , OTC
, 1992
(International Swaps and Derivatives Association, ISDA) o
N o
N
= Max((V, O)ZMax( >V, 0>
i=1
N
= > Max(V;, 0)
i=1
N . N
, (Gross Replacement Value,
GRV)
K K Vi
GRV= > /c:E[  Max (V » o)]
k=1 k=1 i=1

1)

(Net Replacement Value,NRV) .
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NRV:é1 /eﬁ[mx(fﬁlv,, o)— }
8-4
(1998)

( . 10
(Bank America) 57.1 4 285| 16.5 15.2 4%
(Bankers Trust) 8.5| 2448| 53.9 | 12.8 5%
(Citicorp) 55.0 | 7987| 69.2 | 37.4 5%
(Chase) 26.1| 10353 33.3 3%
J.P (J. P. Morgan) 16.4 | 8741 48.1 6%
(Merrill Lynch) 10.1| 3470| 28.6 | 18.3 5%
(Morgan Stanley) | 14.1 | 2860 21.4 1%
(Salomon) 8.8 | 4442| 14.3 3%
(CSFP) 10.2 | 4649| 87.0 | 31.3 1%
(Deutsche Bank) 34.3| 4100 1.1 | 45.5 1%
(UBS) 29.3 | 11149 123. 4 1%
(Barclays) 20.9 | 2845 23.1 8%

8-4
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, , $24 480
$ 85 . GRV.NRV
$539 $128 . .NRV 0.5%,

8.4
8.4.1
1 t
(Expected Credit Loss, ECL)
ECL,=ECE, X X A=
S ;
— 1 L(1—C_d,
(Unexpected Credit Loss,UCL) .
UCL,=CAR, X X A=
VAR,
, VAR .
( ) (VAR) .

) VAR
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VAR =VAR X
VAR=VAR X (1+ )
8.4.2
, 1 .
1 ,
. PV, ¢ 1 . (Present
Value of Expected Credit Losses, PVECL),

PVECL =>ECL, X PV,

= 3 [ECE, X X (1— H]X PV,
(ave )
PVECL= < 2PV,>ave(ECE,)ave X (1=

(Present Value of Unexpected Credit
Loss,PVUCL)

PVUCL= XUCL, X PV,
PVECL o

BBB 5 $1 ,
695, 51%., 8-5 PVECL .
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8-5
¢ d, Prob ECE PV PVECL
1 0. 24 0. 240 0. 240 1. 662 0. 9434 0. 2066
2 0. 54 0. 301 0. 300 1. 631 0. 8900 0.2134
3 0. 85 0.312 0. 310 1. 130 0. 8396 0. 1441
4 1.52 0.676 0.670 0.569 0.7921 0. 1480
5 2.19 0. 680 0.670 0. 000 0.7473 0. 0000
2. 190 0.7120
( ). ECE(
), PV (1—0.51)
$7120
8.4.3
N
L=>CE. (1— f) Xb;
i=1
CE,—— ;
b; s ( PHb,=1, 0,
8-6 $1 BB.B

@

o b

(17P1)
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$850
$4300
8-6

(
A $ 35 0.0101

40 0.0545
C 25 0. 2369
None 0 0.714224
A 35 0.007287
B 40 0.041169
C 25 0.221727
A.B 75 0. 000420
A.C 60 0. 002262
B.C 65 0.012781
A,B.C 100 0.000130
8.4.4

8-11

ing Credit Risk),

(Credit Reserve, CR)

(Equity Reserve, ER)

.

CR

o

(Manag-
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RS A
= T XURS: 451 5%
(99%) BAZKF
TidAfE H
JXUBS: F 5
< I B
811
8.4.5
0
. \ .1
VAR s
. , 95%
99%,
8.5 Credit Metrics
1997 J. P.
o §) (
6%) $1 .

BBB, S&.P,
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Moody’s ,
BBB 86.93%, (
A), ( cco . ,
8 . 877 o
8-7
BBB (%)
AAA 0.02
AA 0.33
A 5.95
BBB 86.93
BB 5.30
1.17
CcCC 0.12
0.18

: Credit Metrics-Technical Document. J. P. Morgan, April 2,1997,

100% ., 8

’ o b
( 8-8),
8-8
(%)
AAA AA A BBB BB B cCC D

AAA 90. 81 8.33| 0.68| 0.06| 0.12| © 0 0
AA 0.70 | 90.65 7.79 1 0.64| 0.06| 0.14| 0.02| O
A 0.09 | 2.27]91.05| 5.52| 0.74| 0.26| 0.01| 0.06
BBB 0.02| 0.33] 5.95]|86.93 | 5.30 1.17 | 0.12] 0.18
BB 0.03| 0.14 | 0.67 | 7.73|80.53 | &.84 1. 00 1. 06
B 0 0.11 | 0.24 | 0.43| 6.48 | 83.46 | 4.07 | 5.20
cCcC 0.22| 0 0.22 1.30 | 2.38 | 11.24 | 64.86 | 19.79

: Credit Metrics-Technical Document, J. P. Morgan, April 2, 1997,
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o 8-8 CcCC AAA
0.22%, .
1.
( )
( ) )
’ b b
( Do
o 600 600 600 10 600
P00 sy T a5 T aF sy (s S

i 7 ;

S,i— i o

8-9

(%)
1 2 3 4
AAA 3. 60 4,17 4,73 5.12
AA 3.65 4,22 4,78 5.17
A 3.72 4.32 4.93 5.32
BBB 4.10 4.67 5.25 5.63
BB 5.55 6.02 6.78 7.27
B 6.05 7.02 8.03 8.52
cccC 15.05 15.02 14.03 13.52
: Credit Metrics-Technical Document, J. P. Morgan, April 2, 1997,
) A, 1
B 600 600 600 10600
P=600-+ (1.0372) (1.0432)* (1.0493)° (1.0532)" $10866
1 BBB

A, %1 $10866
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BBB )
8-9 , ( 8-10),
8-10
BBB
)
AAA $10937
AA 10 919
A 10 866
BBB 10 755
BB 10 222
B 9 810
cce 8 364
D 5113

: Credit Metrics-Technical Document,]J. P. Morgan, April 2,1997,

2. VAR

) BBB
( 8-11),
8-11
Y0 (G (G (I
AAA 0.02 $10 937 $2 $ 228 0.10
AA 0.33 10919 36 210 1. 46
A 5.95 10 866 647 157 14. 74
BBB 86.93 10 755 9 349 46 18.53
BB 5. 30 10 222 541 (506) 135. 92
B 1.17 9 810 115 (899) 94. 46
cce 0.12 8 364 110 (2 345) 65. 98
D 0.18 5113 9 (5596) 563.58
=$10709 =894. 77 =$299

: Credit Metrics-Technical Document, J. P. Morgan, April 2,1997.,
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‘O,' s [

’ m o
= pyur =0.02% X 10 937+0. 33% X 10 919+5. 95% X 10 866+
86.93% X 10 755+5.30% X 10 22241. 17% X9 810+

0.12% X8 364+0.18% X5113
=$10709

o= A/ Zi:lp, (i —m)*

= /0.02% X (10 937—10709)>+0.33% X (10 919—10 709)% +--+

+0.18% X (5113—10 709)*

= $299
1=
0 ; P S
5113 10700 10037 Zvakfh
¥
812
. 5% 1%
5% VAR=1.65Xs=$493
1% VAR=2.33Xs=$697
, VAR, ,

s o 8-11
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. $1.0202
6.77%, 5% VAR  $1.0709 — $1.0202 =
$0.0507 . $0.981 1.47%,
1% VAR  $1.0709 —$0.981 = $0.0899 .
(Linear Interpolation) 5% 1%
VAR , VAR . 1.47
$0.981 ., 0.3
$0.8364 .1
$0.9229 1% VAR  $1.0709 — $0.9229
=$%$0.148 $0.148
8.6 Credit Risk "
Credit Risk™ Credit Suisse Financial Products(CSFP)®
. ) ©) (
) » @ , .
. . 8-13,
PER B LRI E
H2y R
i FEE

8-13 Credit Risk"

Credit Metrics
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( ) . D
3 @ ,
Credit Risk™ 8-14,
B4R Al GEY AL G 2 E L4 R
J ¥
AVAVAVAVAVAVAVAN
0 7
8-14
: O 100 $ 100 000 o)
3%: ® $1 $0.2
(20¢),
e "m"

P(n)=

100 ;

100
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100

100

Y
Bt

0.224

0.168

3
(2.71828) * X3
T oxg = 0-224
4
(2.71828) 3 X 3"
1X2x3x4 0168
8-15 R

0.008 y B2
@ 3 4 g KA
8-15
=3X20cX $ 100000
= $60 000
=4X20cX $100 000
= $80 000
8-16 o
, 1%
100 8 1%( 0.8%),
1% $ 160 000 ,

Credit Risk’

1%
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AR
RO i
0.224f oo \\\\\\\\
0.168t-—---—F~-—-—f-=-=--2%
0.008 I~
) $60000  $80000 $ 160 000
HELREK £ H
8-16
100 3 )
$ 160 000— $ 60 000=$ 100 000
8.7
8.7.1
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( 8-12).
. . . 812
8-12
A B C
A 0. 85 0.10 0. 04 0.01
0.12 0.83 0.03 0.02
C 0.03 0.13 0. 80 0. 04
. 812
A.B.C ( 9~
10 ),
( ) ( ) . ,
. B A 12%, C
3% . B C
0.07, 0.03, B .
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10% , 40%,
—10% X —
40%
=25%
10%.,
8.7.2 (MPT)
1. KMV
R.
— N —
R,= > X.R,
i=1
( )

A= XS S X X ey )
i=1 1

i=1j=

E=Xl + 3 DX X py00, (i)
i=1

i=1j=1
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[

(MPT),

8-17

C

(BO),

8-17
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3 l
1(R), 1 ( ),
i
KMV
R, =AIS,—E(L,)=AIS,—[EDF. X LGD; ]
o, =UL,=0¢p X LGD;= \/EDF;(1—EDF;) X LGD,;
Qi : )
R,
(All-in-Spread, AIS) , (
)6
O;: ) (O'[)I ) (LGD,)
1
vVEDF(1—EDF)
{Oij H KMV

1)

0. 002~0. 15

b



- 294 - —

MRC, =, UL
x;
MRC UL, .
MRC UL,
KMV 10),
2. MPT
@D o MPT ’
b ( )’
(Market Benchmark),
8-13 A, B
8-13
@D (2) (3)
%) A (%) B %)
10 15 10
60 75 25
15 5 55
15 5 10
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8-13 A.B
o ,
, . (D
2). 3 A,
E\](XU—X,)’
o= [H
o J =
A B;
X J ;
X— i ;
N—
8-13 , A.B
s 8-14 .
8-14
A.B
A B
(X, —X))? (0.05)2=0.0025 0)*=0
(X —X,)? (0.15)?=0. 0225 (—0.35)=0.1225
(X5 —X,)? (0.10)2=0.01 (0.4)*=0.16
(X, — X)) (0.10)*=0.01 (0.05)*=0. 0025
2(X,;, —X)? >=0.045 >1=0.285
oa=10.61% o5 =26.69%
8-14 B A
B
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( )
MPT )
(2) . MPT
Bisfi
St ()
Bi— 1
. B 0.2, g 1.4,
g=1.
8.8

(Paradox of Credit):
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KMV

KMV

KMV

(Brian Ranson)

KMV
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? , (Credit-linked Note, CLN),
1996~2004 $ 400 $6 .
(
) )
(CDS)
CDS .
(Default Swap) . (Credit Spread Op-
tion) (Credit Forward) . (Total-return Swap) .
(Credit-linked Note) . (Credit Intermedia-

tion Swap) . (Collateralized Bond Obligation) ,
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1.
(Credit Default Swap) , «C A
« B,  C ),
( 8-18 ).
(A) (B)
©)
8-18
, $90 $100,
$95 . $95
$5 . $90,
) : (A)
©
CDS (B o ,
, B C .
8-15 B CDS o B
s B C BBB, CDS AAA
B CDS :194bp, CDS B
, C . B
BBB, C 0.8, CDS
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8-15
CDS
AAA AA A BBB
0.0 194 194 194 194
0.2 191 190 189 186
0.4 187 185 181 175
0.6 182 178 171 159
0.8 177 171 157 134
LA 1 XYZ
$1 10 . 500p.
JA $50 . . XYZ
$1  $0.40, $ 60 A, A
2.
(Total-return Swap, TRS)
(  LIBOR)
(Asset Swap), ,
8-19 o
(A) (B)
«©
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, A XYZ 10% $1
A B TRS
LIBOR  50bp .
LIBOR 9%, $1 $9 500
10%X$1 =%$1000 ( )

9.5%X $1 =9%$950 ( B)

(95—100) , , e
T %X $1 $500 ( )

—10004+950—(—500)= $ 450

A TRS o

b
H ’ °

=(S—F)XMDX

=[P(y+F,0)—P(y+S,0)]X
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Yy H
P(y+S,o T Y
S>F [} H o
=Max(S—K,0) X MDX
KA
, $1 1 .
XYZ 8% 10 . 10
1500p, 1606p .
. , 6.5% 6%,
180bp., 8%,9 y+S=6+
1.8=7.8% $101. 276, yv+K=6+1.6=7.6%
$102. 574, A (102. 574 — 101. 276)/100 X
$ 100 000 000= $ 1297 237,
4,
(Credit-linked Notes)
CL Note: ﬂ
__Xbp | aaa LIBOR+X+Ybp i
Rt ey | W
M + 2
HA A | EHEGR oA AT
A
i LIBOR+Ybp
\4
AAA
g

8-20
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8-20 o

Fannie Mae , LIBOR

o

LIBOR+X+Ybp, ,

o

ol

(D ,

(2) ,

(3 ,

Merton

Ybp),

’

Xbp,

AAA
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2001
( ) ( )6
s $27
(Counter-party Risk)
( ) ) Credit Metrics

Credit Risk™ . .



9.1

$1

o)

(Unauthorized Trading) ,

o

1995 o
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1999 6
’ 9-1
a‘;“é{’ﬁmﬁ. . I
ELTN G
T R
Tl ERAT BRBRAT M ST FBEE K-8
Hovwl BN BAF
9-1
9-1 ,

(Ernst & Young)

94 %
69%

100
( 9’2) .

,100%
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SSSSSS==

100

HATH]

#

9-2

9.2
(D
(2)
(3)
(4
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9-1 (GARP)

9-1
GARP
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9-3
B 1E Xk
BRAEKIZX S 151 &5 B XLRG:
(R BEAE L) N BAE )
TEPUT TR T R e I i of B T B 5 R 3R A
B LA RS T 24 R Y IR B A
B IR Bz ° R
LN o IR
o Jiite o B
o Hi R o ity
° T
A
9-3
9-2),
9-2
°
°
A. ° /
°
B. °
°
°
°
C. °
°
°
°
°
°
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, (
) o ,
(2001)
) (Strategic &. Reputational

RiSk)o ’ 1)

( 9_3)0 ) ’

9-3
(D [@D) (D
(2) (2) (2)
(3) (3)
(4) 4)
(5)
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9.3
9.3.1
9-4
g R
ot || s || mcett || mmiee || pUsum | cesk
A A | W AR | BRI || BT SR || AR T LLE (| BT ST
PRk I (| B Pt || DR AT || JXUBa T L || 420 (| XU 73 5
Bk || eS| e || AR | e PIETEE
i DR
Lk

9-4
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9.3.2

” (Rear Mirror)

b

9-5),
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9-5
9.3.3
(the Standardized Approach) . (the Basic In-
dication Approach) (the Advanced Measurement Ap-
proach),
1.
(d) , ,d
15%.,
9 ) o
Kpa=[2(GI,.., X 1/n
KBIAi H
GI— :

—15%, .
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Finance) .
ing) .

Settlement) .

( ) ) ;b
( )sc
’ 8 : (Corporate
(Trading & Sales) (Retail Bank-
(Commercial Banking) . (Payment &.
(Agency Services) . (Asset Manage-

ment) (Retail Brokerage) .
b b b
) C B ). 8
o b b
o b
o ) ( )
b ’ o
Ksa = { Eym.\zfx MHXEE (Gl Xﬁhs ) »0]}/3
Kopsa —— H
Gl _g— . 8
Pros— s 8

. B 9-6.
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9-6

18%

12%

15%

18%

15%

12%

12%

_l2% X X

(the Internal Measurement Approach, IMA) .
(the Loss Distribation Approach, LDA) (the Score-
card Approach,SA),
(D o ,
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i 7. EIG, )
i J ;s PEGi, j)
(Probability of Loss Event) i J
;s LGE(7,j) (Loss Given Event) i j
; v(i,j) l j

EL(i,;) (The Expected Loss)
KG,j)=>i2j[yG,j)XELG,j)]
=22y, ) XEIG,j) X PE(i.j) X LGE(i,j)]

ik M5
. e P— Kk
E(L) ULy
B2k B TETE
E(L;)=EI, X PE; X LGE,;
9-5

(Risk Profile Index, RPD)

o



+ 318 - —

(UL) (EL) » UL/EL,
UL EL o N

o . ., UL/EL

o , RPI

KG.jp=2i2jly(i.j) ¥XELG,.j)]
=2iXj[yG.j)) XEIG,j) X PEGi,j) X LGE(i,j)/RPI(i,j)]

. RPI,
RPI .
UL/EL ) RPI o
s RPI
(2) 0
) ; ©
(EL) (UL o ,
EL, EL
EL H 1) EL

Y, ;
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(3

9-7

9-7,
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9 . 321
9.3.4
(Actuarial Model) o
(Mortality Rates)
(Loss
Frequency) (Loss Severity) ,
o (Tabulation) ,
1.
(Proba-
bility Distribution Functions,PDFs),
’ Ve s k o
o D s
V,(, ’
, t
_ P,V
a, =y X P, X v,
R n ( 1
) ) (pd )

pdf:f(n)(n:09 1’ 23 "')’ xX
pdf=glx/n=1)(x=0),

9-8 .
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9-8
0.5 0 0.6 $ 1000
0.3 1 0.3 $ 10 000
0.2 2 0.1 $ 100 000
0.7 $ 13600
X.N ; o

’

E(S)=E(N)XE(X)=0.7X $13600=$9520, V(S)=E(N)XV(X)+
V(N) XE(X)*

9-9

0 0 0 0 0.5

1 1000 0 1000 0.18
1 10 000 0 10 000 0. 09
1 100 000 0 100 000 0.03
2 1000 1000 2000 0. 072
2 1000 10 000 11 000 0. 036
2 1000 100 000 101 000 0.012
2 10 000 1000 11 000 0. 036
2 10 000 10 000 20 000 0.018
2 10 000 100 000 110 000 0. 006
2 100 000 1000 101 000 0.012
2 100 000 10 000 110 000 0. 006
2 100 000 100 000 200 000 0. 002
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9-9 . .
, 0 , 0.5;
,$1000 P(n=1)XP(x=$1000)=0.3X
0.6=0.18; $10 000  $100 000 ;
, . $1000 ,
0.2X%0.6X0.6=0.072, . ,
0.6 0.7
0.5 0.6
0.4 0.5
0.4
0.3 03
0.2 02t
0.1} o1l
- 0 1 2 © $100 $10000  $100000
6&9%E’Mﬁﬁ
0.5 THU 5 VAR
0.4 1| $9520 | g58480
0.3 iy
0.2
oLt .H.D.D.D R
070 1 2 10 11 20 100101110200
WA TEI0)
9-6
9-6 . N X
$9520, 95% $68 000, VAR $68 000 —

$9520=$58 480,
(pdf):
pdf=h(s)=1[g,(s/n) f(n)dn
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2.
’ n

fGO=p(d—p" " n=1,2,

0<p<l,

p=0.5, f(1)=0.5,f(2)=0.25
E(N)=1/p,

VIN)=—p)/p*.
g(x)=ne™ x>0
A>0,

E(x)=SD(x)=1/x
. Weibull

S, =2 X,

i=1

n X , s

P(S<s)= 3 P(S,<s/n) f(n)
n=1

) 1

n, n—1 Au
oD Awedu

P(S,<s|n)= J

P(S<s)=1—e ™

gamma

Gamma
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AP
h(s)=(QP)e “s

E(S)=/2P)
C VAR

S*—E(S)=1/AP)[In(1/c)—1]

9.4
. ( 9-7),
1. AHER 5
6. AUBRAEl H 2. Ik % 5 R
A EfE
5. W 3. X IR A1
4. TN
9-7
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(D

(2)
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4)

(6)

(Regionall COOs)



+ 328 -

| AR |
|
I
| | |
I e SRR B I
| AASIKRCL | | | Serkiibhi
| emmeE | (AR BN
| A || [R5 R R
IEZEECEH BRI BRI
l FANI & B H | | Bk s F) R
R poylaide: Sl
9-8 B
2.
(D

(2)
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( N
(

(2) o

A. (KPD,

B. (KCD,

C. (KRD,

(3

€Y) o
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(5)

it Kb AE B AN

» &

HEMHEL

)‘(\

9-9

BHTHEA

£ R B AE R

Bt R FER A B
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(@21

@y

(Key Risk Indicator,KRD) ,

o

(2) o
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6.
@y

(2)
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. 9-10

j:}H\A

S

af

f SUEE PN FSUEGEEN TR

P

0 \\ )
TR

9-10
: 20%
, 10% ,70% ( 9-11),
30 % ,
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14 i R 7 A3 il P Qi N W
PP XUBS:20% PR XUBR30%
i3 MBE10% II T3 XUBE:30%
15 F U 70% 15 H XUB:40%
9-11
(3)
o s (BBB) .
(E&.0) (D&O)
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o ’ b
~
o b o
’ b
o b
o o
’ o ’
o
b o
o
’ ’ ’
o
1) o

(Quantitative Impact Study)
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. 2.4% (
7463 ) , ’
(Average Recovery Rate) 80%,
5% .

0%, 75% ,
5%, , ,

25%., 5%

b o
( ) ,
b
b
o
N N
N 1)
o o
s o
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10

VAR
10. 1
s (The Galaxy of Risks),
10-1 (Business Risk)
(Nonbusiness Risk) ,

1 , (Financial Risk)
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A1)

(2= 90

= e | Ak B

TR XS 7

ZE N

7 it XS

ML IS

AR M

(]
_

15 H XU

15728 MUK

P& ivd B B

L] L]
X
10-1
) (Market Risk) .
(Credit Risk) (Liquidity Risk) .

2 b b

(Event Risk)

10-2), ,

( 10-3),
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LAk B SRTTIZ XU

55N —

_|

R — | AU |

gt 1 JXURS:

10. 2

10.2.1

BT X
i i DU

10-2

ﬁﬁmmaﬁmm\

e i A 54

VI RA TN |

10-3

(Legal Risk)
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, VAR .
VAR o
VAR . , $100 VAR
o $ 500 VAR
10.2.2
(Reputational Risk) ,
. 1994
(Charles Sanford
),
$1.57 ,
R 1994 4 9 s N
D) 1996 °
(Frank Newman Newman) ( .
), o

1998 10 1996 . 1998
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11, Behemoth Deutche
$92 2.1
10.2.3
(Disaster Risk) . .
10.2. 4
o (
)
o , 1997
10. 3
10.3.1
10-4 s
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FRAE R
(25%)

1 H AU
(60%)

T/ sl e X
(15%)

10-4

10.3.2

1997

, 1995

b

i
R

2
2004

LRSI E A
IR ) %
2R

,2002 2
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10.3.3

(Cost Reduction),

——Honeywell

. , Honeywell

25% o

Cost), 20 90

10. 4

(Natural Hedging)

b b

) s o
. 1997 6
3 s
AIG—

(Honeywell)

( Transaction
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10. 4.1
“ ”»” R ( > “ ”»”
, M-M (Modigliani-Miller) (1958)
10’5 . VAR
,95% VAR $145 .
,2VAR $70 o
o vp 2 i
2145
100 0 100 200 300
WERMETTEIT)
105
10.4.2
M—M “ ’70
1.

10-5 s s
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o b
b
2.
b
o b b

’ b ’

.

3.

( . \

) o )

o ( ) b b
o
b b b
o b
.
4.
b .
o
b
, _
.
o ( Auayannis)

(Weston) (2000) ,
4.9%,
$ 40 . $2
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10. : D

2000 o
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